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TOPICS COVERED

¢ Numbers & Place Value

e Computation Operations

e Fractions

INSTRUCTIONS

* Print the Worksheet: Take a printout of the worksheet to solve the questions manually.

* Gather Stationery: Ensure you have all the necessary stationery items (e.g., pen, pencil,
eraser, ruler, etc.) ready before starting.

* Track Your Time: Record the time taken to solve each question and update it in the provided
’rimer.{j}

e Self-Evaluate: Use the mark scheme provided with the worksheet to grade your answers and
assign yourself marks accordingly.

* Calculate Your Score: Add up your total marks and calculate your percentage using the
score tracker after completing all the questions.
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1. Look at the picture and answer the 2. Fill in the missing number.

question. Which block is 7th in the series? Which number replaces Q ?
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3. If you eat half of this strawberry chocolate, how many pieces will you eat? Draw _/
and show. How many pieces will make one-third of the chocolate?
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4. How many pencils should Preeti '5. What is two-third of the iJ-\
give Rana so that both of them have the collection? Draw and show.

same number of pencils? i

&

/),
N ]

Preeti

r
6. How many more candies to be drawn to make it 157
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7. What is the sum of the greatest an

the smallest digit given here?
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r8. Deepti is 3rd from the left
and 4th from the right. How many
children are there in the line?
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9. In a queue, Ram is in 6th position. How many people are before him?
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baskets should have an equal number of eggs?

rIO. How many eggs to be transferred from Basket A to Basket B so that both the
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Basket A Basket B
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rll. 2 boys and 3 girls shared these =L 12. Bina scored 38 marks in
cherries equally. How many did each get? Science and 50 marks in Maths. What is

{ J { { { { J { her total score?
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13. There are 16 melons in a carton. Raju gave away 5 melons and ate 3 melons. How
many are left?

14. 68 oranges were there in the basket. 44 were put in the sack. How many oranges
are left in the basket?




CHALLENGING LEVEL
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15. John has 8 boxes of pencils. Each =L 16. What number does the

box contains 4 pencils. He gives away 20 pencils. cake piece represent?

How many pencils are left with him?
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gﬂ. What is 5 less than the sum of 8 and 97
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18. The picture shows 6 kids queuing up to board a bus. Devi is in the queue with 2 people

in front of her. Manvi is just behind Devi. In which position is Manvi?
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CHALLENGING LEVEL

has shared them equally among 3 of her friends. multiplication wheel.
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19. There are 12 oranges. Megha LJ to- Complete the

How many oranges would 2 of her friends get?
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Ql. What is 23 more than the double of 127
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22. Which 2 cards add up to give 137 Circle them.
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@ 24. Whatis 12 x 2 x 27 L/-lJ
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23. Complete the bar model using the
three different numbers.
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t& Which number is the predecessor of 35 ones + 4 tens?
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26. It you double the number of kittens and divide them equally into 2 baskets, how
many will be there in each?
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and 50 have 3 in ones place? between 7 tens é ones and 5 tens 5 ones?
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EZ How many numbers between 10 28. What is the difference ;/J

29. Fill in the blanks.

4 ones 3 tens less than is 2 ones 2 tens.




SCORE TRACKER

Grade your understanding of
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each sub topic here.
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TOTAL: /50

Percentage = Total x 2 = What did you achieve based on

" the percentage?
9% to 100%
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71% to 90%
41% to 70%
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0% to 40% Prﬂc*l."ns



